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1. TTSTE T SheTTIAd TR T ShIUTAT 31T 2
A) SR

B ) fearar

C) e

D) Tiesctan

2. WTeATeTUeh! WRATATT Gaid ST fAeaT Shiurdr 31me 2
A) IEHTTR
B) &5
C) JTEHSTETS
D) FleT ™




3. TR ASSTETRT AT FTAS ¥ ShHIUTT YR IHEAR

4, FEIAT HRATT SRR AHTAAT ShI0T AT 2
A) =T AR

B) TTHATY Tl

C) HIT HAR

D) 3N fareat

5. 2021 HEY BIUTRT ST 21 WRart fehadt ST




6. W T TESTAT THRAT T TAT SHRIUIT hed T 3TTE 2
A) T wea

B) E1T hUATHT

C) T ues

D) 3T IT&T

7. SHIAT S T8 dIR SHIOTRT ST T UTEeAT 29T ShIuTdT 2
A) 3THTRT

B) Tsrest

C) I

D) =i

8. GTTETUhT SRIVTTH 2019 AT HRATH YRR THesTeelT
ATET 2

A) 3Tea fagrt arsuat

B) TS S9THE

C) YU EATIERT

D) Ut &St




9. 23 AR BT AATHT YT W i 1+ foaa
HIUTAT TGTH FEUTH TSI TUTR TR ?

A) o feaw

B) vitd feaw

C) WTshy feaw

D) ATUhT ATE

10. 94 ST 7RI HRATT T THAAT ALY hiUT

11. fFwT SRy ST WSTIN Hefera e 2
A) gTeht
B) Tshehe
C) Trelt
D) ®eaTet




12. WRATA Yoo ARAT T et GIATd hioTr=ar
HRThaTd SATAT 2

A) ETE =

B) &Il SeTare

C) A afeeh

D) ATS aeAEAl

13. WA ITUhT ShIUTd TATH Uheh T2 2
A) STA
B) 31
C)de
D) =IeA

14. 30 TS &1 HIVTAT fo FFUMH ASRT HI0ATd AT ?
A) gatedt fa

B) 99 &=

C) vateruT fem

D) Tt fa




15. FETUET T IV TSAT ATHT HATE 2
A) STR TS
B) HeT U9
C) AT T9T

D) JTaT™

16. DAAAT THTH HERTSATET S0 6 [UTeAT feheedTar ST

?
A) R
B) RigTe
C) T

D) TS

17. ST STURT 10Tt WY e ame 2
A) Tshehe

B) W<k

C) AHATSAT

D) Tt




18. BT, T HelTH T FAHISTE 15 ST Ia &
TENTSCTA ShIUTAT faa® FEUA | Shedl el ?
A) Ty feaw

K ERICRECL

C) ara 3ot feaa

D) form foaw

19. JTSIT FATST 91 FEUI TIVTAT 397 HATHAT STl 2
A) AT
B) =9
C) Ju™=

D) AT

20. TRATA T ASTHEAT hedq 51 — 3T HIMIT Hfera e

4

A) TAYA e
B) e 5ok
C) HTIE3Teh a
D) JATU<hT ATEY




21. GIHTANA

o IoTeT fReoTRT

v g HIUTAT 3T
C) vt |
D) WS

22. AU

o

b o HITTET AATA

C) &ATeCH B
D) ATHSATS

23. s
pe I FTATIT ShIUTAT
v TETHST TRESeT
B) ga=at o
C) faa=a
D) TiteaT




24. HE HRIRT BT SHIUITAT THTII B ATST 2
A) Tregat

B) HETEATS!

C) AARaHT

D) HETerhT

25. TN 2T ¥ Frest figeam gaw & fira sioft ferfee 2
A) TR dehHR

B) q9it Ui

C) THATA

D) AT

26. T MU TTE” § T WA TeTdsh! ShIuTT 318
?

A) BT, TNE T

B) UTE IS

C) THATY Shifag

D) . HaHTE R




27. THIRET IT ISR AR ITANEHT HI0TAT AH TR kel
3ATE ?

A) RISEIITES

B) ShideRATUT

C) WTES

D) ATUhT ATET

28. %% X AT ATlecT THAT IS SATA ATE 2

29. THTRT TESTEAL T TS TTeAT TIMHATT TR
9T TeRdY Sa=hT 3TRd 2

A) Ro

B) ?¢

C) R

D) 34




30. TRATT 200 GUIATSAT AL HIT o ATE ?
A) AES ATIT

B) gUT I

C) wi=it Tq

D) AT TeheaT

31. WTATCTUch! HERTSETSl UATARUT HT ShIUT TR 2
A) 3T T

B) €T T3S

C) AT BTeht

D) fagfea wew

32. HERTSS frem uiucer UTeder ShivT 3T ?
A) T fHaiaet

B) =T\ Mg

C) TeToT ST

D) AT 92




33. T TogTaHE Sk (ADB) o HEATAd @TeiTerdehl

34, AT AUt (IMF) < TATIAT ShogT ST ?
A) 3%%%
B) 23%4
C) %34y
D) 2]4R

35, TTeh TS TATYAT cheal ST F Shid SATAT ?
A) §R&§ (AT

B) £3%? (fegu=m)

C) $%¢Y (RTSHTI)

D) %% (HIFhT)




36. AT SCATEATA HERTSE T WRATd TehadT shHieh GTRTAT
?

A) ufgeT

B) 3E

C) faaw

D) <iterT

37. BAudt Frarst (e 3iTw Sow) wfsraw wie org ?
A) 9O

B) AR

C) Hag

D) TS
38. QUATSEG hiS CET TS T HATE 2

B) YWShATHAT




39. gfea
? M EMNE IS RCIRIGEED
. HIOTT TSI Haterd
B) * *
C) &M
D) qeT

40. STITH Rt

e ¢

A)aaﬁn-j S

b g1 TS heAT ATAT
C) 2% 3ATRE |
D) ¢3 3TN

1. ¢ ’

B) STIIRTIT
> TR0
D )T%i?FlTQ;Z'Fﬁ'{




42. THAMIeIE AT TEART & VT TS ?

43. ATTAT TSI AT HIUTeAT YATHATST 208 AT A
YIER T THESTAT ATE 2

A) WA

B) 319

C) vridar

D) |Atfger

44, TENTSE UTSATE AT U 2 TgUH shivrar foad
TS H0Td Il 2

A) R SHERY

B) 2 %Rl

C) R "=

D) R Tftrer




45. TUes BT &ITq HIMUTE TAR HIATA 2
A) e + &
B) @i + shefieT
C) aid + =riet
D) TNEE + e

46. TATTS TGS h0TAT THT TG FATEAT ?
A) 1942
B) 1920
C) 1940
D) 1930

47. rEaeTe B 2T 2o Eewtur shvrean Rreana &g 2
A) FETETE

B) T TS

C) A&

D) Tt

48. THA S T ARAT SHI0TT SRS foehd Haetel

C 1
A) STHAT




50. TATIT ST ATRTIT hg ATE IR IET TTATTUHT ShIUTT
AT 3TTE?

A) AR

B) 3TTErTE9T

C) sTtET

D) ®ACH

51) q(g : + 3T =2
A) ST
B) &&dT
C) atgsi




D) ST

52) SITSYTeR-UTCITed Tehll SISt TS,
A) TS - AT

B) iR - F+aiae

C) W-§:+3H?QT'

D) Ffdwr - fr R

31 2.
A) G +hB
B) SH + T
C) g+
D) 3+ %

54) I9T: + o' AT et weftas v1es wivrn?
A) I

B) IINYA

C) Ity

D) Iure




55) QekaT AUTT=AT FAUTIciter ufgert fort o ger st feha
T ITH ToRT T FEUIATA?

A) T&Ta Gt

B) foremt et

C) TR aet

D) weft

56) HATAA' AT IS2TAT Tt frg Tim?
A) T + AT

B) WAT+ATAT

C) Wt + e

D) HAT+AT

57) 'f:+foreRre ar wet fomreTen W@ vies eite@?
A) TR

B) fAfaer

SRECIEEI

D) SHeTUehT AT




58) AT BT 9T5€ ehIUTAT “Tefl’ TehTY MTe 2
A) Teore geft

B) ST Heft

C) forert weft

D) TR HHT

59) WA AT ITeTeIT Heft TR SET?
A) TETEHT

B) SsuEt

C) fommaet

D) gaEuHeT

60) T Sreqieil Heft foTer 7 + ueet ?
A) WAUEA

B) WASUEA

C) "9 YA

D) HT:UCca

61) TG I vTSaTe fervTy s ET?
A) AaTtera fererwor
B) HaATWe ferorwor




C) FAsggarterd farorgur
D) argartera ferreor

62) STERaA yTeaT ATA T - {7 7T IR ATUT o1,
A) FTHATH

B) WISATIHATH

C) e

D) |aa™

63) 'St TRTRA d T I TEA" AT ATFATA T ARG
ITETAT AAATHTT TehTX ShIUTAT?

A) srfafaE

B) T

C) JENaTeh

D) Gaet

64) TTATE TR YreeTaT [T Teh ATSET.




D) ATUhT TehRgT ATET

65) AT TATH HRA' AT ATHIATA T HRA" AT FehamaeTan
Teh T ATSET.

A) 3ARHH

B ) HhHh

C) SHIe

DRECLED

66) W =g foEar. et Tfeaar av fsramaemn TR
5@,

A) UhHh

B) AhH*

C) 39t

DBRECXED

67) ""HY TEATAT ATd ATE" AT ATHTA A TSI Teh R
|

A)srqiw. IE I
B) 3ThHeh fhaTue
C ) Hehard feramue




D) €Y fsramug

68) STS=AT HISATR FATST AT Ferur gEweAT
TARRIT TR 5T,

A) IeEIRT

B) aIfderit

C) ==

D) ¥

69) "GUT HATIVT LT Tre5d BT, T SATFITATeT 'HATIOT AT
IS AT SNBET?

A) GaATH

B) ITSEIRI 31ead

C) I 3T

DINERUE MW P

70) ¥ g feRfaedt ST, a1 ST et SWaT==i




D) YU Sreleh

71) '3R! ATHFT TEUT AT ATAT!' '3 AT /AATIT
ASTATAT TehT] AT,

A) TaEwRREsHh

B) erigsteh

C) INehaITh

D) feRiusyieh

72) STNENT hAATTRT STSIITAT TR TS,
VITEITE | 318l A9 Jaat (e,

A) UgiETEvHh
B) gNa®h

C) HHfdeysh
D) 3ATe¥asich




74) QT TeTuehT farora=mw shivTe 31Tg?
A) Gt
B) WETHTR

C) J9eTS

D) am=x

75) UTHTIUTERUUTT  ShIUTd ATH 3172 ?
A) AT

B) foeream

C) MTIaT=eRATH

D ) ueTe aTereh

76) HY THEITE UTIEEAT - AT STt | /i ATS?
A) I

B) HaA™

C ) fergreror

D) Tsraferssor




77) 'ATRET 9T IR 1A rEta A Arertdter fergraor
ST,

A) TR

B) ot

C) 3w

D) 3Tt

78) STTYUT AT Tt ATAE TEITUia SATEAT. AT R
fergraoT=T YRR |,
A) ot faereoT

B) ThHATIh
C) JATx(taT=eh
D) |TEATHS

79) WTATAUhHT AT ATeeh HEAT for9Ivur SiaeEr?
A) g

B) SH-SHETTE

C) ufgerm =t

D) oSt HeA




80) STFIATAT 27l UT FIUTRT TRATA T ITeq FEUTSH 1 2
A) faremor

B) feramug

C) HaA™

D) W

81) AT T HATAT FHTAA 7 IATSUT TohATISTAT SHluTeT
JhRTd HIgd 2

A) TSR

B) v

C) arfaataq

D) Hea

82) EIeT ATeATciTeT TshaTIETeIT Teh R ST5EIT?
" TR HTUTHTAT SATAT TS T8, "

A) TIINTeR FsRamue

B) W shaATUg

C) TSIk (shaTag

D) &g fehamag




83) Tigd IT yTeETaT YhR SSET
A ) TuTfereT ?
B) WTadTIh

C) vreaart

D) 3™

84) ATERY" AT TAATHTET

gl TehTT STT5ET.
B) 3

C) sk

D) UENaTa®

85) WTATA ATHATATA
" TAATH ST, AT ST ST
A) TR
B) T
C) 319Ut
D) Jar




86) SRIUTCAT ATFATA 'TEAT TEATER TAATH' AU

88) T, Iricrar, T, I AT AR IeqTa el ATHAATH
AT IT6E ATSET.

A) vriddr

B) siudt

C) W

D) Gied




91) HTLY, AT, TR, ST, Ftiuent, TRY AT fawre=ma=
T g ShI0Td ATH T8 2

A) WTIETEIR AT

B) |THTEATH

C) gHdT=Ih ATH

D) TeRaTiersreoT




92) SHIUTd THTT ATH ATET ?
A) HBq

B) &t

C) &S

D ) fEuTe=

93) 'SR’ AT YTSET= AT ATSET.
A) 7™

B) farvryor

C) feramug

D) GaATH

94) TTIAT AEATe & U WA AT, LN Rad AW
TR TTSET.

A) HTHT ATH
B) foomw A




95) FTERTAT TR (AT ) BT, gad
A) o™

B) WAtk A0

C) 9™

D) fergreor

96) WTeA IeTUeh! f9Ta=TH SHIvTa?
A) udq

97) GETeTdsh! ShUT Tor9Ts=TH T8 1? T, 2wy, =,
fwTer, gov, T

A) T

B) T

C) Rue™

D) T




100) FTHTT ThTX TBET. - TSR
A) QT ™

B) faviwam

C) wTaaTeeh A9

D) gHaTTeh




101) Pick out the correct alternative to complete the
following sentence.

If she worked regularly, She her goal.

1) may achieve
2) can achieve
3) might achieve

4) might have achieved

102) I can't read his writing. It is
1) eligible

2) illegible

3) legal

4) illegal

103) The three primary auxiliaries are :
1) be, have, do
2) can, could, would

3) may, might, must
4) aught, ought, nought.




104) She used to play hide and seek with her girl-friends
in her childhood.
Which verb-form can be substituted for 'used to'
retain the meaning of this sentence?

1) had

2) could

3) was

4) would

105) Fill in the blank with the correct verb.
I usually walk to college, but today in my

uncle's car.
1) go
2) went
3) walk

4) going

106) Choose the incorrect sentence.
1) I can not a sleep
2) I can not sleep
3) I can't go to sleep




4) I can fall asleep.

107) A horse
1) neighs

2) roars
3) barks

4) mews

108) Change the following into indirect speech:
"Do you know the way to the museum,' the
stranger asked.
1) The stranger asked me whether I knew the way
to the museam.
2) The way to the museum was asked by the
stranger to me.
3) The stranger told me whether I would be able to
tell the way to the museam.

4) The way to the museum was not known so the

stranger enquired with me.




109) What is opposite of the word 'entrance'?
1) Door

2) Utterance

3) exit

4) gate

110) Change the following sentence assertive sentence

into exclamatory sentence.

India is a great nation.

1) What a great nation India is!

2) Wow! what a great nation India is.
3) How great nation India is!

4) Oh! what a great nation India is.

111) If you run fast now, you will get that bus.

This sentence suggests

1) probable action
2) possible action
3) impossible action

4) uncertain action.




112) Which of the following is an abstract noun?
1) bread
2) coffee
3) cheese
4) happiness

113) Identify the type of the sentence given below :
'For earning more money he worked hard.'
1) simple
2) compound
3) complex
4) complex compound

114) Fallow - land means land which is

1) barren
2) cultivated
3) uncultivated

4) sown




115) Change of the following into Passive Voice.
They gave us some books.
1) Some books were given to us by them
2) Books were given to us by them.
3) Books were given by some to us.

4) Books were given to us by some.

116) Change the following affirmative sentence into
negative.

Shut the door.

1) Do not shut the door.

2) Do not open the door.

3) Do not close the door.

4) Do not exit the door.

117) Choose the correct article to complete the sentence.

He goes to University every morning.
1) the

2) an

3)a

4) No article.




118) Choose the correct article to complete the sentence.
Albert Camus was European genius.
1) an
2)a
3) the

4) no article

119) Choose the word opposite 11in meaning to the
word underlined.

There is something repulsive about the way he

handles people.
1) smooth
2) attractive
3) reflective

4) destinctive

120) Rewrite the given sentence in the exclamatory

form.
These are very good apples.

1) What good apples these are!




2) How good apples these are !
3) What a good apples these are !
4) How very good apples these are !

121) Fill in the blank with correct preposition.

We shouldn't poke fun  people who stammer.
1) of

2) at

3) on

4) against

122) Identify the incorrectly spelt word.
1) Athlete
2) Auxilliary
3) Abscess
4) Catalogue




123) What does the underlined modal in the sentence
below suggest?

You can hurt yourself.

1) ability

2) probability

3) certainty

4) permission

124) Choose the option which best expresses the word

underlined :
He lost the contest in the penultimate round.
1) final
2) second last
3) most difficult
4) replay

125) Pick out the correct word to complete the sentence.
The art of spelling words correctly is called

1) Philogogy

2) Orthography

3) Calligraphy




4) Paleography.

126) Choose the correct antonym of pragmatic.

1) angry
2) unpractical

3) experimental
4) deceful

127) It had rained before we reached home. Complete
the following sentence with the correct alternative.
The word 'before' used in this sentenceis
1) preposition
2) conjuction
3) adverb

4) adjective

128) I purchased one-way ticket from Miraj to
Mumbai.

The proper articles to be used in the blank would
be:

1) a




2) an
3) the
4) None

129) Fill in the blank in the following sentence with an

appropriate phrase.
At the meeting, the parents were
1) With fully cry
2) Having full cry
3) In full cry
4) About full cry

130) Choose the correct phrase out of the alternatives:
1) At loggerheads with
2) On loggerhead with
3) To loggerhead with
4) About loggerheads with




131) Choose the correct words for the following.
A person who is womanish in his habits.
1) Feminist
2) Effeminate
3) Philanderer
4) philogynist s

132) Choose the word which most closely fits the
definition.
A person against whom legal action is instituted.
1) Defendant
2) Litigant
3) Appellant
4) Deponent

133) He was dressed for the party.
Choose the right antonym of the word

'immaculately' for filling the blank.

1) imperfectly
2) irresponsibly
3) incompletely




4) moderately

134) You must pay for the mistakes you made in your
life.

In this sentence must is

1) A principle auxiliary
2) a modal auxiliary
3) the main verb

4) none of these

135) Choose the correct antonym of - Absolve.
1) bless
2) repent
3) melt
4) blame.

136) Select a word nearest to the meaning of remorse:

1) revenge
2) repentance

3) pity
4) pride




137) The word 'fast' may be used as :
1) Only verb
2) Noun and verb
3) Noun, Verb and Adverb
4) Noun, verb, Adverb and Adjective.

138) "To follow his advice seemed logical."
The subject of the above clause is
1) Infinitive
2) Adjective
3) Adverbial
4) None of these.

139) The ancient Greeks more by conversation

with teachers than from books.

Complete the sentence choosing the correct

alternative.
1) study
2) have studied
3) studied
4) had studied




140) The boys fled in great haste, for they a
snake.

Complete the sentence choosing the correct
alternative.

1) have seen

2) have been

3) saw

4) had seen

141) If you speak the truth, you will never regret it.

This sentence is

1) Simple

2) Compound

3) Complex

4) None of the above.

142) If are healthy in mind, they will treat our

daughters properly.
Which of the following alternatives is correct ?

1) Sons-in-laws




2) Son-in-law
3) Sons -in-law

4) Son-in-laws

143) Identify the mood of the verb underlined.
Behold the dreamer comes.
1) Imperative
2) Subjunctive
3) Infinitive
4) Conditional

144) Choose a correct word for the phrase given.

'an experienced person’

a) a mentor b) a trusten

¢) an employee d) a worker

Which of the above options is are correct?
1) a only

2) a and b only

3) b only

4) ¢ and d only




145) Write a correct phrase for the word given. - a
blockhead.
1) a dull person 2) a head fo the block
3) an arrogant one 4) a blocked head
Which of the above options is are correct?
1) a and d only
2) a only
3) ¢ and d only
4) b only

146) Fill in the blank with the correct tense form of the

verb given.

I saw two policemen (chase) a thief.
1) will be chasing

2) will chase

3) chasing

4) were chasing




147) Choose the correct passive form from the given
alternatives.

Do not laugh at a beggar.

1) A beggar ought not to be laughed at.

2) A beggar should not be laughed at

3) A beggar should be laughed at

4) A beggar would be laughed at

148) Choose the alternative with - Shyam was a

man in his family.
1) shred
2) shrewd
3) shrew
4) shrewed

149) Match idiom in 'the teeth of' with one of the
following.

1) in front of

2) in contact with

3) in the face of

4) in touch with.




150) Choose the correct alternative for the underlined
word.

I am the Secretary of the Sports Club since its
formation five years ago.

1) was

2) have been

3) had been

4) No improvement.

151) TehT HETIETErATd 300 To=meat=it gererd g
AT ATTSIAT A Ude ! degT 140 ferameai=f wesrht

JATAE 75 TImeai=it STSATHTEAT TS ATIUT X
feremeat=h am<ht v ATAE TEAT AT T
HIVTATET TS THACHT e =i Gt fehrdi?

A)70

B) 75

C) 85

D) 90




152) fermear Smit T g fAaeT
FJBN, EKCM, DLDL, CMEK,
A)BNEJ
B)LDLA
C)LLDD
D) DDL

153) 3 forieet o 7ed 3 fReTiiw St shige adeard
ferdt et St 9Teetes Uiet..?

A)29.7

B)2.9727

C)2.997

D) 2.97

154) 1672 T HEATA AT TIETH VT HEAT TAT hedT
FHAT AUIT=AT HEAAT 17 = YU AT AT5A...?
A)6
B)2
C)5
D) 40




155) 9 HieX 25 THT, gaerT erie =i SRt 125 foeft wWiex
TSI THUT Tohell THTT qehe BIATeT..?

A)73

B) 74

C)76

D)78

156) UehT HEAT 9 2 STTTUT Ta=it 4 U Ti=aTd et Wleh 70
3T T ot ST It 2

A)20

B) 15

C)16

D) 14

157) TehT 5T 2 ATETA UTUGTET ZTehl U SH=AT AT 6
AT WA FE1 A Aiad g% ohed ¥ ATUATTHT ZTohT hogT




158) 4 AT + 4 T + 4 Tehe = 2
A ) 4004 She

B) 14004 9cha

C ) 1444 Tehe

D ) 14644 Tche

159) 5 THUSAR AEA T AT 170 ST FATd HIgAT T
AT & T UM fehdT?

A) 1512

B) 1102

C) 1152

D) 1210

160) 150 IT=4T YehT YEdehTa 1 d 150 TE sHHieh Hisd
FOATETST TehelT 3ieh AT

A)262

B) 342

C) 360

D) 450




161) 9,15,18, (T -3 T AU WTATeTURT HIGATA
IS T hIUTAT?

A) 330

B) 240

C) 270

D) 180

162) TEIeT Tl Heb HEATe(t Sradt ?
A)52
B)5.4
C)5.6
D)5.8

163) At HTatet TEE 18 AT F i U 2:3:4 AT
T TTUeh AT 8T WEAT hIuTdl?

A) 10

B)1

C)12

D) 16




164) TEHT STATT TERT AT = 0T 63 TS 83
feTfReaTes T STt S TUTHEAT ST TUTHT STeet
R AT AT TeRuT farareft femet?

A) 10

B) 40

C)20

D) 25

165) I I HEITET UMTHR 720 FTEA T 1< TUNTH 1:5
AT TR AT STATA Bikeh (ehel?

A) 3526

B ) 3546

C ) 3556

D) 3456

166) U=l ©ET Toha It ARTATA ATIOT SATHH 6, 5, 7, 10
HATIVT 12 ehaTAT AU et TANTAT. GEATAH STesdT
TehT ATHT WL o Tohd ! AT Ueha fH@dter?
A)7
B)S
C)9




D) 10

167) 7,0,6,3 T 37k UehaT=l ATUEA daR BIUTRT dIR ZIUTRY
TR hT TATT 8T TEAT HRIUTdT?

A) 7630

B) 3670

C) 3067

D) 367

168) 1-100 7Y 8 TerdT TTeRe ST kY ST 5 7 WIT

169) HETHTERS WAGAT STl AT chl T U HUL
Tk TTedi= <t fohAa 312 ,a¥ 18432 ®E WeA TehdT amet
AdTeT?

A)52

B) 48




C)8
D) 96

170) A T TR B U&IT 25% Y SR T8, a¥ B ©F WK A
eIt TeRdT % ¥ HT TTT?

A)20

B) 25

C) 45

D) 33.33

171) TSHT TTSAT=I ATRETAT 3000 FHT TET 10% = TS

F THAT 20% ST AT THUT AHAEAT 3500 FIAT. T
et ter feraieit S fehdt?
A)) 4000
B ) 3000
C) 2000
D) 1000

172) ShIUTeAT EEA=T 20% BT 40 =F 30% 31?2
A) 90
B) 80




C)60
D) 50

173) UeRT AT fohwrd 20% AT sheama @q 20% 3
el T TehUT STTETA TT/ATeT Tehdl?

A) 20%TwT

B ) 20% dIeT

C ) 4% T

D) 4% dieT

174) TETE SATUT TATSAT HLATSAT SATTAT ST 60 T TE.
HET ANTYST ArSeATe T HATSAT TATEAT 5 UE T @
HATSAT 6 TAHA FeATl o TRt SEUIR?

A) 12 a9

B) 14 a¥

C) 1899

D) 20 9§




175) Yot SATTOT A Fi=ar SaAmer TONRR 2:3 3T, IR
GTAT AT Tedeht 4000 FUITT ATE TATEATH AT
T TTUTIRR 40:57 B, T Firae Terferdia aa- fordt?

A) 17,000

B) 20,000

C) 25,500

D) ITdeh! ATET

176) THIT T T 13 TN AT, 3T9TIeh THIT Y&IT 5 a1 HIST
TR, SATUTET 7 AT Srerieat a4t qed fohdt aut=n e
ATA?

A) U=l

B ) @zl

C ) =T,

D) {Td

177) UeRT A=A Ueht T A0Edt 99 12 T§ o1T2. 39

AUEE 1 U qTEeAT. T TAIT AderedT e&Td S

TeATUeh! TehTel o 20 W 3ATE T SH=AT T fehell r@eT?
A)15.




B) 20
C)18.
D)21

178) EET ASR X fEA9it 8 AT6 Sh1H HE SATSAZATA 720
O AL THearaTd @ 8 AR & faasft 6 ar s s
HATEISATA Tehdlt AR T TeT?

A) 540

B) 960

C) 720.

D) 1080

179) TIMWEI 12 & T 850 & HETAT 4 T AT




180) TS SHTceh | AR IUTTA SHTeehIT HIUT=AT 9T 3
FEfer T 4 e SR, T AT FE FiE FE
A)S5Cm.
B)Scm
C) 10cm.
D) 7cm

181) TehT TITEIT 6718 TEN HE 5829 HIAT AT THUT
ATRECIATA 7548 TTGR AT A T AT 6T e
G fohdt?

A) 4999.

B) 7059

C ) 2095.

D) 8437

182) 300 HieX eriet=t ¥od 72 Teheniwtes afer are A
ThT WIATAT Tehd! Ae6Td SATSEA?

A)20.

B) 15

C) 25.

D) 60




183) THT feoheeater 600 Afeh 318 i feheearardter

3= 41 feaa 4@, 37
framtt 360 &fer Fream e, sdfia o fereeamatter
FRIAT fehRd e qXer?

A)15.

B) 16

C) 10.

D) 12

184) Tsh =Te5 Ueh ZTehl 10 ATETA WAl of SHI 65 <t ZTehl

15 ArETd NeRTHY Shial. et 765 TohaW Y& chodTd 2Teht
ferelt BT AYeT?

A)20.

B)15

C)eé.

D) 30




185) Ueh 1 TATET=AT [@9 17km/hr ST AT &
TaTETeAT fo6g o9 11km/hr T AT, @ S <7 6
UTUITA T AT ShTET?

A ) 14km/hr.

B ) 3km/hr

C ) 6 km/hr.
D) ITUhY ATEY

186) Tt & CaeT TATSAT {SRHAT of TUTII 3:7 3T SATIUT
STATS ThAd 441 TUX FHATHE Tt < fohwd sh1aT?
A)I90F.
B)180E
C)156 &,
D)I89®

187) A T B 3TTshH 4000 T 5000 TUX T STTHTT T&

AT AT IS T 27000 T THT STTAT dX A °F
TR aTeT fehd 12

A) 14,000.
B) 15,000
C ) 12,000.




D) 16,000

188) 3,4,5,6,7 AT AT ShIUTAET 3 3Teh Tk AT HTA
AT ST Tehd ! HEAT AR hidT A et ?

A) 120.

B) 60

C) 70.

D) 80

189) UeRT JATIATAT ATaT 8 WY . T &1 6 HY 31T, AT
TS fehdl?

A)48

B) 56

C) 84.

D) 14

190) Tek QTOLT=AT ZTeht 30 HY oTi,4 WY &2 & 3 Ht @it 312
, T Tarsara foret wmfirex aroft wrarer?

A) 456

B) 845

C ) 365.




D) 360

191) 8 THT YT T 3 HHT I ATAT BRIV ST

192) SHIUTEAT S TehRT ThHATT TH UTIUE 25 TUTd BIeeT?
A) 15
B) 18
C) 14.
D) 16

193) T T 200 FUFHT WA HeAT T 150 EIATAT
TRt o SremeT AteT Tehrdt?

A)20%

B) 15%

C) 25%.

D) 35%




194) (16x2 ) +4+3x2+2="2
A)11.
B) 15
C) 17.
D) 22

195) HIUTAT ABTHTA TTETH TAEIUAT 12 F WHTE 31HAT ATehT
5 3T .16 T W 3THAT IThT 9 FTd, SATIUT 18 T WHTA
AEAT aTeht 11 3.

A) 144

B) 156

C) 138.

D) 137

196) 19 A< 9 ST TW GEAT?
A) 56.
B) 36
C) 48.
D) 35




197) TERT T 30 Hei F 60 HeAT 3Tad. S HeTiol aradt
TT 12 T T TeA TS T T 10 T FAAA A JOT T
T T FHTET?

A)18.

B ) 10.66

C) 15.

D) 10.12

198) FI HEAT STTHH 30% T 40% AT a% UE AT G
geea fedt % Te?
A) 65%.

B) 90%
C) 75%.
D) 70%




199) U Yo STEHEATR & YO 20 km/ hr 3T AT . & qOT
T ITEUSTR 30km/hr
T G A, I AT A AT H1er?

A) 24km/hr.

B ) 30km/hr

C ) 50km/hr.

D ) 10km/hr

200) 48 ferex frsroma o = qroaT=r TATOT 5:3 ST T
feret aTuTt STeheaTaR 54 & UTUAT= TUTRR 3:5 Bet ?
A) 54.

B) 48
C) 32
D )50

Answers

Q. No. Answer . No. Answer . No. Answer . No. Answer

| R | NN AW N -
W = W] W W[ B N DN W
NN N W W —| DN DN
W[ W W W N —| N NN
BN = N =] W —=] D










